MIAMI-DADE COUNTY, FLORIDA
MIAMI-DADE METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 3313(6-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

West Palm Installers, Inc.

6819 N.W. 84" Avenue

Doral, Florida 33166

ScoPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: ASSA /Extruded Aluminum Bertha Bahama Shutter

APPROVAL DOCUMENT: Drawing No. 06-065, titled “ ASSA / Extruded Bertha Bahama Shutter ”, sheets 1
through 9 of 9, prepared by Tilteco, Inc., dated March 30, 2006, signed and sealed by Walter A. Tillit Jr., P.E.,

bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and
approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1, evidence submitted page E-1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

// / M\{ NOA No 06-0501.06
g Expiration Date: 08/31/2011

Approval Date: 08/31/2006
of 3I/Za06 Page 1




West Palm Installers, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 06-065, titled “ ASSA / Extruded Bertha Bahama Shutter ”, sheets 1
through 9 of 9, prepared by Tilteco, Inc., dated March 30, 2006, signed and sealed
by Walter A. Tillit Jr., P.E.

B. TESTS
1. See Association’s generic approval under 05-0237.

C. CALCULATIONS
1. See Association’s generic approval under 05-0237.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. See Association’s generic approval under 05-0237.

F. STATEMENTS
1. Release letter issued by the American Shutter Systems Association, dated March 30,
2006, certifying this product to meet the criteria of product tested and approved, and
allowing West Palm Installers, Inc. to use the test results approved under Miami-
Dade County Approval No. 05-0237, signed by Legny Santana.

2. Acknowledgment letter by West Palm Installers, Inc. dated April 13, 2000, signed by
Mr. Luis Montalvo.

3. Letter by Tilteco, Inc., dated April 13, 2006, certifying that the drawing (No. 06-065)
prepared for West Palm Installers, Inc., signed and sealed by Walter A. Tillit Jr.,
P.E., is engineering wise identical to American Shutter Systems Association, Inc.
generic drawing (No. 05-094).

4. Acceptance Letter issued to Mr. Luis Montalvo on August 27, 2006, and returned
signed by Mr. Luis Montalvo on August 31, 2006, indicating to please issue the
proposed Notice of Acceptance as submitted and reviewed.

A Ut

o £’ Helmy A. Makar, P. E.
Product Control Examiner

NOA No 06-0501.06

Expiration Date: 08/31/2011
Approval Date: 08/31/2006




GENERAL NOTES:

1. EXTRUDED BERTHA BAHAMA SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P. A. D.)
HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA
BUILDING CODE.

THIS BAHAMA SHUTTER SYSTEM MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.
IN ORDER TO VERIFY THAT ANCHORS ON THIS P.A.D., AS TESTED, WERE NOT OVERSTRESSED, A 33%
INCREASE IN ALLOWABLE LOADS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. HOWEVER, FOR
LAG SCREWS INTO WOOD, A 1.60 WIND LOAD DURATION FACTOR WAS USED TO CALCULATE SCREWS
SPACINGS.

EXTRUDED BERTHA BAHAMA SHUTTER'S ADEQUACY FOR HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTION 1609.1.4 OF THE ABOVE MENTIONED CODE AS PER ATL REPORTS #0923.01-97 AND
#0309.01—-04 AS PER PROTOCOLS TAS—-201, TAS-202 AND TAS-203.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063~T6 ALLOY AND TEMPER, WITH
Fy = 25.0 ksi MINIMUM (UNLESS OTHERWISE NOTED).

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES W/ 50 ksi YIELD STRENGTH AND 380
ksi TENSILE STRENGTH OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018.

4. BOLTS TO BE ALUMINUM ASSOCIATION 2024—T4 ALLOY AND TEMPER, ASTM A-307 GALVANIZED
STEEL, OR AIS| 304 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD STRENGTH.

5. ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE: (Min. f'c=3145 p.s.i.)

~ 1/4" 8 TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.

~ 1/4” 8 x 7/8" CALK—IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENERS, INC.

NOTES:
A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 1/2".

A.2) CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED.

1/4” 8-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST AND 1”
MINIMUM .FOR WALLS WITH NO STUCCO.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE

BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
~ 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.
- 1/4" 2 x 7/8" CALK—IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENERS, INC.

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTQ THE CONCRETE BLOCK UNIT SHALL BE 1 1/4"

B.2) CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” @—20 SCREWS USED SHALL BE 1 1/2" LONG
MINIMUM SHOULD STUCCO EXIST AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

Approved 28 enmplying with tha
Florids Bulding Cody
of

»,

<,

BE.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING
WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

ANCHORAGE SHALL BE AS INDICATED ON NOTES B.1) & B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND
SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

7. EACH SHUTTER SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR
TENANT TO SECURE SHUTTER WITH SIDE & SILL BRACKETS DURING PERIODS OF HURRICANE
WARNINGS.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. CONTRACTOR TO
SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN PERMANENT AND CONTINUOUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS
ALL AROUND FULL LENGTH. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
WOOD FRAME BUILDINGS.

9. EXTRUDED BERTHA BAHAMA SHUTTER’S INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN
THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION
WHERE PERMIT IS APPLIED TO.

10. (a) THIS P.A.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE
P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING
LIFE SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D., PROVIDED HE/SHE DOES NOT DEVIATE
FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE
CONTRACTOR'S RESPONSIBILITY.

(c) THIS P.A.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR
ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO
WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A
DELEGATED ENGINEER TO THE P.A.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC
DRAWINGS FOR REVIEW.

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OF RECORD THAT PREPARED IT.

11. SHUTTER'S MANUFACTURER LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE
BAHAMA FRAME © OR © .

ONE LABEL SHALL BE PLACED FOR EVERY OPENING. LABEL SHALL READ AS FOLLOWS:

WEST PALM INSTALLERS, INC.

DORAL, FL.

MIAMI--DADE COUNTY PRODUCT CONTROL APPROVED.

F.B.C.(High Velocity Hurricane Zone)

DRAWN BY:
: ASSA / EXTRUDED BERTHA BAHAMA SHUTTER "
D=2 / I". I ECO e \ WEST PALM INSTALLERS, INC. a3/30/08
- TILLIT TESTING & ENGINEERING COMPANY (A ¢ 352)
5 ‘3‘1‘) 6355 N.i%h.!ﬁtb. s(.’iba%’ir"ﬁaomr %5535;,&%? J3168] 6819 NW 84TH AVENUE 06065
ona ¢ 108 . Tox - DORAL, FL. 13188 : —
/ = £8-0006719 PH.:(305)406—3575, FAX:(305)406-3576 SRAWING Mo
y WAthgﬂ;\A LT;IéLI;( J;} 7?7 £ V. No DESCRIATION DATE_|_REV Mo DRSCRIPTION DATE
1 - - 3 - -
© 2004 TLTECO INC. P = - = - ——1 SHEET 1 OF 9




2.500" L
— 402 8
l._ — |, 120" ‘
.’_‘r—ﬂﬂ—-w f—xnoia—f
2
5 & LAN?
§ 2 e
™ T— . " I6gu
]
— )
365"~ [~
—1.190"—

REGULAR INTERIOR MULLION

6005~T5 Alum. ALLOY
SCALE: 1/2" =

1.322" —

—.080"

() BAHAMA MALE TOP FRAME

SCALE: 1/2” = 17

062"
TP

1.892™-

 t |
l—1.190%~~]

HEAVY INTERIOR MULLION

6005-T5 Alum. ALLOY

I——.JOZ"

068" 3
o
Q_A
' | ""'?s
o 2
1,969 —— 'r,
[=]
2.374" |

FEMALE HINGE

SCALE: 1/2” = 1”

3.293°
3.938"

() HALE _SHUTTER

— .645"

187"

ELE
1.725"—

BLADE
SCALE: 1/2”" =

(/) SHUTTER BLADE

SCALE: 1/2" =

"

SCALE: 1/2” =

SHUTTER BLADE ELEVATION

A T

e —oniii

Yoo

SCALE: 1/2” =
28] I-_ —-1 "“'Ogau 085"~ p—m —-t —.085"
' F“ A]__{ o s 270" % | § I - 270" 'g
& N i 5 - 8
I mn—' | L —
1.322" T e — 1 490
—osz 3 | S
&) SNAP_CAP R T
SCALE: 12" = (G) BAHAMA FRAME G1) ALTERNATE BAHAMA
SCALE: 1/2" = 1" FRAME
SCALE: 1/2" = 1"
HOLES ARE OPTIONAL 1.000"
[~-.202" T 1 —{'
] 7
\ 3
— é::) a— (- '
e s (— — :
—D (c— D - §
.§ 1]
N~ B3
RE 88
5 D |~ &> — —.
S % _"q: ] G o
s 3§, —D d (—
S 3 < J L " ©) BUILD-OUT
N 8 Iy Alum. BRACKET
N © 000" 7" LONG
(Tye.) SCALE: 1/2" = 1"
D CZJ L: -
i a— (a— (—
b — (— -
8
lem—,070"

302"

.058" é
~
&

+
| 4"%.
i - B
2.906 ’ '%\
331" *

(© 1" B. 0. FEMALE HINGE

SCALE: 1/2" = 1”

- 187"

2.000"

N P

L—'Z 000 "—‘!

CORNER _KEY

1" LONG
SCALE: 1/2" = 17

®

4.000"

j 2000 ——|

le—.250"

® BuUILD-0UT

SIDE BRACKET

7" LONG
SCALE: 1/2” = 1”

COMPONENTS

| 250"

-L_- p 34311
J— R.
8 %
= %
: ||
2.969 ! B,
3.374"

@ FLAT FEMALE HINGE

SCALE: 1/2" = 17

—-—-—74500"-——‘

R

2.000"
87— |

. 187

]

(N) WALL MOUNT

Alum., BRACKET
7" LONG
SCALE: 1/2" = 1"

- 125"

[

3.000™

L—. 125"

T ——

L—z.OOO'-————-!_{

@ SILL ANGLE
SCALE: 1/2" = 1”7

{ I

Mpmeﬁ & cmga.yiﬁg syishy the
g Cod

5-050[ 0 f
Witami Bede Protust Qﬂﬁﬁmﬁ
Divisle
By

F.B.C.(High Veiocity Hurricane £one)

/TiLlEcom. \

TILLIT TESTING & ENGINEERING COMFPANY
8355 N J6in. Sk, Sle. 305, VIRGMA GARDENS. FLORICA 33168
t (305)871-1530 . Fox : (305)871
EB~DDOE719

WALTER A TILLIT Jr., P. E
FLORIDA Lie, # 44167

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRagy B
WEST PALM, INSTALLERS, INC. 030,06
6818 NW 84TH AVENUE
DORAL, FL. 33186 —_
PH.:(305)406~3575, FAX:(305)406-3576 %fw#gsif)
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE

- - K] - -

© 2004 TILTECO INC. P

- - 4 - -

SMEET 2 OF 9




Dc/4 or D/ Or E/4

@

&@OR

OR@ @m@ @&@//
)\ o ! /[ e

Bc/4 or D/4 OR E/4

@o/‘?@

o
!
[

/
/

0.

INLY

¢ POP RVET @
C. (1 PER BLADE)
R

E. D.
(3) CALK~IN ANCHORS
%%52“5‘%"5 o ONCRETE BLOCK
OR CON
—\Im REQUIRED

%

y
17

POURED CONCRETE

]

ALTERNATIVE
®or©@

CORNER BRACKET
LOCATION

Wc/s or /4 OR E/4

OR GD

W SEE SCHEDULE

or (0)

W SEE SCHEDULE

(4) 3/16"8 Alum.
POP RIVETS TOF/BOTTOM
FRONT/REAR

UNLIMITED WIDTH

(N) or

W SEE SCHEDULE

MULTIPLE UNIT

(1)§10 x 1 1/2" SMS. FOR @

oR @ Typ.

ELEVATIONS

ALTERNATIVE
M) OrR @ CORNER
BRACKET LOCATION

See DETAIL (D)

]
* @\ ’
[
" /@
@ @ OR @ II
OR @\ ® OR © REQUIRED AT ]
MIDSPAN, AT SIDES /
OR © (SEE SCHEDULE FOR /
REQUIRED AT REQUIREMENTS) [
MIDSPAN, AT ‘l !
SIDES (SEE
SCHEDLgLE FOR QUITSIDE BRACKET SEE DETalL 276 A SEE DEJAL 278
REQUIREMENTS) FOR_TRAPPED W
INSTALLATIONS IE é th A -
I 4 TR 8 (N . |
o N7 Tl o
o Llle "R IANY L1153 2]
J-—— — (LA — ] ~
:
35" =
A OR A7 A OR
OR B AT A OR A OR
o OR BS N AT AT o
2 Y| YOR B OR B 3
I3 ro 1!
N : N k N
be Al ~ ol A B
ol \ Dol ol
L.l L.l L
[=] l @ + @ l (o Q I o (o (o / (o (o

| (1)#10 x 3/4" SM.S.

Dc/4 or p/4 oF E/4
W SEE SCHEDULE

or (0)
SING

(2)

NIT

1\
3| \_(?;gp o o]

MS. W/ 7/8" x
WING NUT'@ 3" 0.

OR (0)

2" x 3 3/16" (Mox.
x 1/8" CLOSURE
Alum. ANGLE (Cont)

(B083-T6 ALLOY) ———\
Gfss 36¢ s{fﬂ-
@ or(J) .

(1)F10 x 1 1/2" S5,
SMs. To

Q)

OUT SIDE BRACKET
FOR TRAPPED
INSTALLATIONS

5.5. SM.S,
70 (gm@

oRrR(D

SECTION A—-A

(1%[10 x 1 1/2

/,@/F
orR GD

(WALL MOUNT) SCALE : 3/8" = 1"

E. D.
(3) CALK—IN ANCHORS
(SEE_SCHEDULE ON
SHEET @ OF 9)

\7

.

(2) 1/4” #-20 RVNUTS W/
(2) 1/4" #-20 x 1" 8.5,
3" 0.C, VERTICALLY
W/ 1/2* EDGE DISTANCE

10 x 1 1/2" S.5.
& BOTIOM

MS @

OR (2) /
S.M.S. ToP
(Typ. AT EACH BRACKET)

POURED CONCRETE
OR CONCRETE BLOCK

REQUIRED 7

1/4" 8-20 x 2" §.S.

3/32%
0/ ¢

VERTICALLY W/ 1/2" EDGE
DISTANCE TOP & BOTTOM

(Typ. AT EACH BRACKET)
(110 x 1 1/2* SMS.

TYPICAL AT

EACH CORNER.

| (1410 x 3/4" SMS,

[ O

OR @D

e ’@’éé"d‘g or G

G)OR GD

F

|

[

SECTION Al — Al

¥ ;,Y :
T i

1)#10 x t_1/2° S.S,
g,{fs 0 @a/R@

(FLOOR/CEILING MOUNT)

@/-

\\}\

AN
7

/—SHEEI' 9 OF 9)

O
&

W

YREOUIRED

(3) CALK=IN ANCHORS
(SEE_SCHEDULE ON

POURED CONCRETE
OR CONCRETE BLOCK

(2) 1/4" a-20 RI

VNUTS W/
" S.S.

(2) 1/4" #-20 x 1" S

OR

S.MS. T0P & BO
(Typ. AT EACH BRACKET)

SECTION B-B

(BUILD-OUT) SCALE : 3/8" = 17

oM

M5 © 3° 0. C. VERTIGALLY
W/ 172" EDG
(5 410 x 1 1/2" 58

E DISTANCE

NOTE:

E D =3 1/2" Min.

r 3 i e SCALE: 3/8" = 1”
: 2 e Z5 \@ : 2 25
W/ WEB NOTCHED . . .
S OR@n{ 1.160" DEPTH S ~——— (3) CALK~IN ANCHORS F.B.C.(High Veiocity Hurricane Zone)
T @ & 4 LDEASEZ/%RASEL o T ) ) (Typ. EA. BRACKET) DRAWN BY:
/ ny Ny -/ .y .
" @ ~— g_r)ﬂ’% x ina%%gyw/ WASHER ASSA / EXTRUDED BERTHA BAHAMA SHUTTER S,
7 s :
OR €D | NS, PHY ;) W 4 D10 5 1 172" S / lIL I ECO . \ WEST PALM INSTALLERS, INC. 03/30/06
(Typ. EA BRACKET) TILLIT TESTING & ENGINEERING COMPANY (uss4 ¢ 3%%)
{ “ " | | " " 8355 N.W. J6th. Sk, Ste. J05, VIRGINIA GARDENS, FLORIDA 33166 8819 NW 84TH AVENUE
- J = — 3 J '—‘—"r'—‘;‘l m Phone : (305)871-1530 , Fax : (305)471-1531 DORAL, FL. 33186 06-065
1/ 1/2 D ETA / L 7 1/2 /2" ST WALTEng—%?.':ZIEg{ﬁ. b E PH.}(305)406-3575, FAX:(305)406~3576 DRAWING No
?? . : FLORIDA Lic. # 4,'”57 REY, No DESCRIPTION DATE M.'V:'No DESCRIPTION DATE
. » — L - ’ - - — -
SCALE = 1/2" = 1 / © 2004 TILTECO INC. ; = —1 = | SHEET 7 OF ¢



POURED CONCRETE

REQUIRED
TAPCON AN:.‘;;:%‘\

(SEE SCHEDULE ON /
SHEET 9 OF 8)
k',;. _k_ I
E — ] _l
f
N
E DT

EXISTING GLASS

S

TN

ALTERNATIVE LOCATION
FOR @

(1) 3/8" POWER
PRGN BOLT W/ 1 1/2" Min.

e N EMBEDMENT T0
f v POURED CONCRETE
co-__ ! REQD

|
I 3" Min o~
: : ¢ m OR@ Cont. q ‘ o // O \\\ F A
] 3 4 POURED £'p. sl e RN i
' POURED CONCRETE | CONCRETE —~® Cont, Lo_cfa_ |
1 or OR CONCRETE E D ks
~ £.0,—+~E.D. - CONCRETE BLOCK : Cont., BLOCK . } W ¥
REQUIRED A4 & REQUIRED v TAPCON ANCHORS v N
q CEI==SH /| 7§ \ @50 C ~\/ E--'I"’
u _ - B -+ — 1 " 11
cH= /] . // (D#10 x 1 1/2" SMS. L == =HT (3410 x 1 1/2" SMS. Yk R
7_7 Yy 7 L ()10 x 1 172" SMs. / //_ pouren concrere —— — 7 f0 ] \
(1) 30" Power sl & Lg zcn daus'\\ i (3) CALK~IN ANCHORS/BRACKET e 1t 1257 Cont oR 7 8
, \ (3 CALK-IN ANCHORS/BRACKET (SEE SCHEDULE ON SWEET § OF 9) - - CONCRETE BLOCK D
Min, EMBEDMENT’ T0 LOCATION \ Alum. CLOSURE ANGLE ey S0/
D e . ) (SEE SCHEDULEON SHEET 9 OF ) Aum. CLSURE ANGL REQUIRED =
BLOCK WALL. 174" 8-20 THUMB SCREW 3/16" 0 Aum, POF RIVET }
1/4% 8-20 BOLT W/NUT / | & 12" 0.c. T0@O0R &)

SECTION € — € (waLL MOUNT)

NON HURRICANE POSITION (74 m.p.h. WIND SPEED)
SCALE: 3/8” = 1”

}
| EXISTING GLASS
I/_
| s
| L,/ (G
’ N

| ’ N

( \
L !

ALTERNATIVE LOCATION
FOR @

(1) TAPCON ANCHOR
TO POURED CONCRETE
REQ'D.

(2) 3/16"8 Alum.
POP RIVETS

f
A | / 1/4 #-20 BOLT W/NUT
[t
:L' 3 Min,
L g
L 3
LJ \
L]
i \
— \
C3 __/ W
(1) 3/8" POWER BOLT wy/. z Aﬁ;?JCLILfIO#MB \ \
1 1/2" Min, EMBEDMENT LOCATION \)

TO POURED CONCRETE
BLOCK WALL.

1/4" 8-20 THUMB SCREW

1/4" #-20 BOLT W/NUT

Cont. Alum. B. O. TUBE (1)f14 x 3/4°
POURED CONCRETE POURED CONCRETE cont (6063-T6 ALLOY) ——— N SMS o 6" oc
REQUIRED B) cont.  REQUIRED * POURED CONGRETE A ;
x \ REQUIRED Cont.
TAPCON ANCHORS TAPCON ANCHORS TAPCON ANCHORS N\
(SEE SCHEDULE ON 4 (SEE_SCHEDULE ON 7 (SEE_SCHEDULE ON 7/
SHEET 8 OF 8) _—}; \ F) Cont.  SHEET 3 OF 8} \ SHEET 9 OF 9) \ N
C + N0 i C= +\._\_ N Cont. — AN ' — { Cont.
— — — -J — — — -_] L——*—R——J f ~j
I > Cont. N Cont,
N ‘i 2
N (;I——L_J Cont. Y g—j T
E. D. L /@ E D L E. D L =
i 1 T M 1 T \ "
| 1/4" | —~i 1 316" | 33/18
| I
: | :/— EXISTING GLASS

l

}r——SEE SCHEDULE ON —
SHEET § OF 8 FOR Min.

| SEPARATION TO GLASS |$EF’ARA7'ION JO GLASS

| | .

] \/\ L
. % v ! v

|

EXISTING GLASSN

SECTION € - ¢

*©

ALTERNATE SECTION C’
NON HURRRICANE POSITION scale: 3/8 = 1~

(3)#10 x 1 1/2" S.MS.

/—@ Cont.
OR GD
h Cont. Cont.
c_A

(WALL MOUNT)

HURRICANE POSITION
SCALE: 3/8" = 1"

050" (Typ.)

L
«

775"

(K) .875" SERRATED TuBE (L)

INSIDE ARM
6063-T76 ALLOY

SCALE : 3/8" = 1”7

Cont.

NOTE:
E D =3 1/2" Min.

— C' (wALL MOUNT)

1 EXISTING
GLASS—\}
\® orR @Cant.

2" x 3" Mox.

SEE SCHEDULE ON —~
SHEET 9 OF 9 FOR Min.

x .125"

\@ or @ Cant.

SEE SCHEDULE ON

SEPARATION TO GLASS

SHEET @ OF 9 FOR Min.

— Q=@

)

|
|
|
|
|
|
|
|
|
|

e A

a4

/@ Cont.

OR CD

Cont. Cant.

v

ALTERNATIVE LOCATION
FOR

CTION D —
HURRICANE POSITION

(BUILD—0UT)

SCALE: 3/8" = 17 . 0857~~~ 125"
3 T l——‘ A
i NS N
® ®3 g8
L SO L s
g N
Lg—“—).—,—] E l-—7.750"——]

1" SERRATED TUBE
DUTSIDE ARM

6063-T6 ALLOY
SCALE : 3/8" = 1"

(M) CAMEL BACK HINGE

J003~-H14 Alum. ALLOY
SCALE : 3/8" = 1”

e—

Cont,
/@ Cont.

OR GD

Cont. Coant.

’ ——-——@ Cont.

Lapro x 1 172" sms.

2" x 3" Max, x .125"
Cont, Alum. B. 0. TUBE /
(6063~T6 ALLOY)

HURRICANE POSITION
SCALE: 3/8” = 1"

F.B.C.CHiqgh Veiocity Murricane &one)

2) 1
gm INTO (2) 1/4" 9-20
RIVNUTS EACH

. (1414 x 3/4° 5.M5.

(BUILD—OUT)

1Y x 1" x 125" Cont. Alum.

CLOSURE ANGLE (6063—T6 ALLOY)
ALLOY) W/ 3/16" 8 Alum.
FOP RIVET @ 12" 0.C. TO(@®OR €D

2" 8~20 » 1° SIDE WALK

Agproves s complyi
Florida Bulgiy

©
e

Minmi Duidte Frosue:
Divisies
By

/ TILIECO me. \

6355 N.W. 36th, St, Sia 305,

TILLIT TESTING & ENGINEERING COMPANY
VIRGINIA GARDENS, FLORIDA 33166

Phone : (305)871~1330 . Fax : (308)871-183}
EB-0006719
WALTER A TILLIT Jr., P, E.
FLORIDA Lic. § 44167

© 2004 TILTECO INC.

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRt BY:
WEST PALM aggTwALLERS INC. OJ/D_:oréos
6819 NW 84TH AVENUE
(305) DORAL,sﬂ.. 33(156 . 06-065
PH.:(305)406-3575, FAX:(305)406-357
BV, No OESCRIPTION DATE | V. Mo DESCRPTION TaTE DRAWING No
; ~ - : - —{ SHEET 4 OF 9




b F/e
ANAANAVAVAVANAN \\\\\ AANAAN \\\7//\\\\\\\\\\\\\\

«(®

POURED CONCRETE

REQUIRED j

ANAVAVAVANANAN
// \\ //
®+© ] .
ORCD.__ 7 X
/ N /
REQUIRED // - 7 ~
AT MIDSPAN AT / / @ REQUIRED
SIDES (SEE / 7 AT MIDSPAN AT
SCHEDULE FOR _| ] {A SIDES (SEE SCHEDULE
REQUIREMENTS) ! L FOR REQUIREMENTS) _{
A SEE _DETAIL 3/6 p (SEE_SCHEDULE SEE DETAIL 378 N W
/ FOR _REGUIREMENTS) /[ 3
3 N O
—e o /‘ // // | I ) \\ E
?){ J\TO P { / ‘\‘ _3; '% o
G/6 = ~ G/6 :
- /77A A 3
7/ g
7/ 9
// [/
N 7/ N
> 7/ N
/[
7/
/
A /
A\ N ”»
7\ . !
L PR _?-—iﬁ?f_—;—m—u_—\
o =) o \ o -] o \
T I
777 A7 7V 77777 //é{ 4144111444114<j
NOTCH 2 1/2" x 2 7/8" HIGH
p e OR GD WL‘L%N"{JS%Z% AT EACH INTERIOR SEE DETALL 1

W (SEE SCHEDULE}

W (SEE SCHEDULE)

(4) 3/16" ¢ Alum.
POP RIVETS TOR/BOTTOM

UNLIMITED WIDTH

W (SEE SCHEDULE)

MULTIPLE UNIT

(1)#10x 1 1/2" SMS, FOR@

ELEVATIONS

N T S

FRONT/REAR T\ oR @ . /gé

Es=s=zzzzazszz== SRS R A — e

— \‘%‘ ------- !
_______ 4|I e

_______________________________________________________________ A
T i [ A N

EEEEeEEEhr |

Foozzz==gysszzzzzdbs =zssZsszsssgsszzsasss ===l |
____________________________________________ !

I ——— Aot Sttt ¢ ====_

= = = == = T

e

i

%

J#10 x 3" SMS.
WASHER

W/ WEB NOTCHED
TQ 1.160" DEPTH
TO PENETRATE INTO
HEAD AND SILL.

‘@

Trp. TOP & BOTTOM.

DETAIL 1

SCALE : 1/2" = 1

1/4" 9-20 SIDE WALK
OLTS INTO RIVNUTS EA.
@ 12" o.c.

x 1"
TYPICAL AT

EACH CORNER.

OR GD

prre

zgggﬁ?% DCONCRE TE
N
NAVAN ANAAANAVAAAAVAAYANANANANAN
®+©
OR @\ / !)or
— D0
REQUIRED [
AT MIDSPAN AT /
SPREDGLE For FEQUIRED
— AT MIDSFAN AT A
REQUIREMENTS) 4 _=SEE DETAL /6= N DS (S §
A=< ( N2 A\ REQUREMENTS) 2
ﬁ o 1 “ o 3 T [ :
/ A &
= X wy B L8 =g a
G/6 - ~ G/6 ¥
A N :
5
&
b o — — — — —_— = — — ’L, —
Y
/) /////////////é@//
[[ﬁ’ F/6 +(©)
W (SEE SCHEDULE) OR @D

(1)§10x 1 1/2" S.M.S.

| (D10 x 3/4" SM.S.

|;L-/®+@

i (1)#10 x 374" SM.S.

SINGLE UNIT

misw
By,

F.B.C.(High Weiocity Hurricane Zone)

/ TILIECO me. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N J6ih. St Sle, 305, WRGIMA GARDENS, oA 33166

Phane : (305)871=1830 . Fan : {(3085)871~153
EB-0Q006719
WALTER A TILLIT Jr, P. &

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRawm BY:
03/30/06
WEST PALM IN§%LERS, INC. fyr A
6818 NW 84TH AVENUE
DORAL, FL. 33186 06-065
PH.:(305)406~3575, FAX:(305)406~3576 DRAWING No

FLORIDA Lic. # 44167

DESCRIPTION DATE REV. No DESCRIPTION

DATE

- - 3 -

© 2004 TILTECO INC.

~ - 4 -

SHEET 5 OF 9




POURED CONCRETE

REQUIRED
TAPCON A

EXISTING
GLASS

INCHORS \

(SEE SCHEDULE ON
SHEET 3 OF §)

3/4 |

N

D Cont.

r_

F) Cont.

Cont.

J
|
| SEE SCHEDULE ON
SHEET 9 OF 9 FOR__|
"' MIN. SEPARATION
7O GLASS

‘/\

N

9/4 --—20/1?1}/%/[ dgza
"s’s, FULL

|LENGTH LDCATE ALWAYS
AT LEAST TWO BOLTS 1"
|AT EACH SIDE OF INTERIOR
| MULLION. SEE ELEVATION

ON SHEET 5 OF § FOR
| BOLT LAYOUT).

7

POURED
CONCRETE
REQUIRED

SECTION F - F

A

//[

|
LK—W ANCHORS /} ———t. .
E SCHEDULE ON LI
SHEET 8 OF 8)

(TRAPPED MOUNT)

HURRICANE POSITION
SCALE: 3/8” = 1”

(3) 1/4" @~20 x 2" 5.5,

W/ 7/8" x

/32 N

WING NUT @ J‘

VERTICALLY W/ 1/2 EDGE
DISTANCE TOP & BOTTOM

(Typ. AT EACH ERACKET)\%

N ©

F
== ¢

i %‘(

C/BOR@ "3/41_”/4 T 1
U

G G A
o
i

\\\\\\\\\'\

SECTION G - G

(TRAPPED MOUNT)
HURRICANE POSITION

SCALE: 3/8" =
NOTE:
E D =3 1/2" Min.

OR GD

(3) CALK~IN ANCHORS
(SEE SCHEDULE ON
SHEET 3 OF 9)

POURED CONCRETE
OR CONCRETE BLOCK
Y REQUIRED

Y 3505

e | ey | I | SO |

1/2"

W (©

3

{Typ. EA. BRACKET)

10 1§ )

SCALE : 1/2" = 1"

—————————— I
NIy

::::::::::::::::/\:/:::::: :::::::::::'” H |
(g1t
-

DETAIL 3 TRAPPED

SCALE : 1/2” = 1"

F.B.C.(High Weiocity Hurricane &one)

1/2°

(3) CALK—~IN ANCHORS

(r),fmx 1 1/2° S.M.S.

0. EA. BRACKET)

(3) CALK=IN ANCHORS
(Typ. EA. BRACKET)

(3) 1/4" 0-20 x 2" S. S.

M S. W/ 2/8 xJ/32

VERTICALLY W,
DISTANCE TOP & BOTTOM
(Typ. AT EACH BRACKET)

Divisia
By

Wiiami Bade Proses Con

1 /2 EDGE

»

/TiLlEcom \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. Jﬂh St, Ste. 305, VIRGIMA GARDENS., FLORIDA 33166
Phona ; (305)871~1530 . Fox : (308)871~1531
EB-0006719
WALTER A, TILLIT Jr., P. E

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRawn Br:
WEST PALM agf%l.fﬁ& INC. 03{,‘;%06

6819 NW 84TH AVENUE
DORAL, FL. 33168 06-065
PH.:(305)406-3575, FAX:(305)408-3576 DRAWING No

FLORIDA Lic. # 44167

DESCRIPTION

DATE

REV, Mo DESCRIPTION

DATE

3 -

© 2004 TLTECO INC. n

SHEET 6 OF 9




1/4" & LAG SCREWS @ 6" 0. C,
\ \\{ . 1/4" ¢ LAG SCREWS © 6" 0, C.

wro1/2* MinOTHREADED
W1 12 i THREADED PENETRATION | 10 EXISTNG
PENETRATION TO EXISTING N . . X 2" x 3" x 125" Cont
WOOD MEADER. L . 1/4" 8 LAG SCREWS @ 6" 0. C. 1\ ™ 1/4" @ LAG SCREWS @ 6" 0. C. e EE o
W 1 1/2" Min. THREADED - W 1 1/2* Min. THREADED A (6063~T6 ALLOY)
PENETRATION TO EXISTING ' PENETRATION. TO EXISTING IR B
WOOD HEADER. . WOOD HEADER, ‘! rf‘ P
. 14 x
B) cont. i C) cont. . . M S @60 C
- s 2
s WA L
__“ ‘___{ i F Cant. _J F Cont, . / 7
L/ ' i —H :i-es
£ * ont. "\
s 3!' h t E‘
IS : -
] ‘ . b3 W I
. R
L] N
1 3/16" Dy
WOCD HEADER WOOD HEADER 2 —3 3/16"
REQUIRED REQUIRED /
EXISTING GLASS
N EXISTING i
\® OR @ Cont. GLASS RN \@ OR @ Cont,
SEE SCHEDULE
e oTEELYE
—1 _fOR MiN. p i p SEE SCHEDULE
SEPARATION pY FOR MIN. SEPARATION o S
TO GLASS z TO GLASS EXISTING ON SHEET 9 OF 8
g ] 61488 """FOR MIN. SEPARATION
Ay g g N\ GLASS
= X ]
s X s
+ N M :" vﬁ
A v
! Cont.
° 0 Cont.
) c Cont.
(2) 3/18" ¢ Aum. . ont. on
FOP RIETS , G OR @ /1" x 1" x 125" Cont.
6 Cont N\ Cont ™ Alum. CLOSURE ;NG;E
. \ ' i (6063-T6 ALLOY) W, .
] 3/16" ¢ Alum. POP #14 x 3747 SMS.
] o =y & 6 Cont. RIVET @ 12" O.C. ©
o i m@m@ ,
: @ Cont 8{ ' (3)F10 x 1 1/2" SMS EI— . com /Eﬂ?“' v 1" x 1% x 125" Cont, Alum.
. x o D, A » |
L o e - e Tt (J)im x 1 1/2" 8 M. S. or . E::h CLOSURE ANGLE (6083~T6 ALLOY)
e 4 b . a W/ 3/16" ¢ Alum. POP RIVETS
| (3) 1/4" 6-20 ELCO N EgI_ TR N 0 12" 0.6. T0© OR @D
r - 1E © EACH JAMB & mole/famale PANELMATE [ 20 & L ﬁ. A) 1/4" 6-20 ELCO mo/e/fefmﬂe 4 . > 1/4° ¢—20 x 1" SIDE WALK
‘ = I o MULLION LOCATION , W/ 1 7/8" MINIMUM o0\ PLATE . NELMATE W/ 1 7/8 ) = INTO Y /4,, i
T S / N PENETRATION AT MIDWIDTH REQUIRED . PENETRATION AT M wer " Py S
\\ 1/4" 9-20 THUMB SCREW o OF EXISTING WOOD FLATE - OF EXISTING WOOD PLATE IRED TE‘ ) f
Al L L o o
) 1/4" @-20 BOLT W/NUT E ¥ - 2" x 3” Max. x .125" Cont Alum.
s, . O, TUBE (6063-T6 ALLOY,
X () 1/4" 8 1AG SCREW L\ E [N \ -, " ¢ )y
WOOD STUD AT EACH STUD (MIDWIDTH OF STUD, Y ' Y 7/4 8 LAG SCREWS @ 6" 0. C.
@ 24" 0, C. 2" Min. NOMINAL) AND W/ 1 1/2" Min. - W/ 1 1/2" Min. THREADED
REQUIRED TUREADED PENETRATION INTO EXISTING PENETRATION TO EXISTING WOOD
D. PLATE.
NON_ HURRICANE_POSITION DETAL: (74 mph. OR LESS WIND SPEED) ALTERNATIVE 1 ALTERNATIVE 2 ALTERNATIVE 3
SCALE: 3/8" = 1 HURRICANE POSITION HURRICANE POSITION
SCALE: 3/8" = 1" SCALE: 3/8" = 1" HURRICANE POSITION . o
EXISTNG GLASS SCALE: 3/8" = 1" happreved 56 complylng with o
srida Belding Code
WALL MOUNTING [NSTALLATION & BUILD—OQUT b 08 )%1/2006
SECTION A NOAE 0 -2 0l-06
Mt Dade Prodast Ca:
%l INSTALLATION DETAILS ON EXISTING WOQOD BUILDINGS gmgm
Yo d

NOTES :

1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS . . .
LESS OR EQUAL THAN +62.0, —75.0 p.s.f. AND Max. SHUTTER 5PAN AS F.B.C. (”/qh Ve/OCIty H .rricane ZOne)

2. Nw Yk o ?N rgHggs% 73 E'??N PINE No. 2, SURFACED DRY WITH DRAWN B,
A x 6”P. UTHERN PINE No. | g
\ 19 % M. M, C. W/ SPECIIC DENSITY OF 0.55 ASSA / EXTRUDED BERTHA BAHAMA SHUTTER SM.
G o EacH JA%IE @ J. FOR_NEW WOOD FRAME CONSTRUCTION: WOODRMEMEERS 70 BE SOUTHERN
i AT A PINE No. 2."W/ SPECIFIC DENSITY OF 055 OR EQUAL [ILTEC O . WEST PALM_INSTALLERS, INC. 03/30/08
N THUME SCREW TILLIT TESTING & ENGINEERING COMPANY (Ass4 ¢ 333)
— ” 1/4" 8-20 BOLT W/NUT 8385 Wi, Jain St St 305, VRGN ArDENs, PLORDA 33186 6819 NW 84TH AVEéVUE
: : L, FL 331 -
oty 9 40 S80S o o S Ss e T P omuis-53 e Goos_soe s
REQUIRED ? M, NOWINAL) AND W/ 1 1/2" in ALTERNATE NON HURRICANE POSITION DETAIL 5 Pyl A T ,#J;'éw} ‘ ) SESERATON oA | AV, % TESCRTION DATE °
THREADED PENETRATION INTO. EXISTING : v . - - 3 - -
£y SCALE: 3/8 7 / @ 2004 TLTECO INC. - — — ~ - —| SMEET 7 OF 9




T

2" x 4" Woop STUDS
WOOD TRUSSES OR RAFTER ?;'OU’RED © CORNER \\\ [—— —
@ 24° 0. C. REQUIRED yP-
(3) 1/4" 8 ELCO female ’ ’
PANELMATE W/ 1 7/8" Min. Co
' THREADED PENETRATION. .
/ﬁ"—\—@ Cont. 3/16" o ?op RVET @ ) oo , "
. 6" 0. C. (1 PER BLADE, “ Min (3) 1/4" 2@ ELCO female fin. /
Zi 3 wimp Ll /—@ Cont. < = s, a6 MmO FEAR OMLY R : PANELMATE W/ 1 7/8" Min. a
A \ b — 3/3 L ,(4,,,,,,, BTE CO,,), , m OR @ THREADED PENETRATION.
WOOD HEADER / i 6063-T5 ALLOY) W,
REQUIRED - oy o i /_® Cant. : Al (2) 5/16" 8 LAG
/ [a—] —@ Cont. 3/4 ”
1/2" @ LAG . .

2" x 4" WOOD STUDS —]
REQUIRED @ CORNER | ™~

(Typ.)

SCREWS TO EACH JOIST.

LOCATE SCREW AT

Cont.| MIDWIDTH OF EXISTING

WOOD MEMBER (2° Min.

/———@ Cont.| NOMINAL WIDTH) W/

-~
LN

374" 3/16" @ POP_RIVET © S M. . C. -

77
=] L
'g WS i
SCREWS @ 6" 0. C. o @ 6" 0. ¢ 2" Min. THREADED 6" 0. C. (1 PER BLADE,
W/ 1 1/2" Min. PENETRATION. & REAR O(NLY ) = =
THREADED PENETRATION OR @
o (3) 1/4" 8~20 RIVNUTS W/ 2" x 3 3/18" (Max.)
F10x1 1/ OR (3) 1/47 6=20 x 1 1/2"5. S x 1/8" CLOSURE
M. S. TO éORé M. S. ® 3" 0, C. VERTICALLY Alum, ANGLE (Cont)
% o @ @ W/ 1/2" EDGE DISTANCE
0 . oR () 410 x 1'1/2"
SEE SCHEDULE \@ Oor @ ot oR @ d“ 0 xd 742 S. .M.'S. TOP & BOTTOM
NV onsHEET g OF 9 " i @ '@ ( Typ- ‘AT EACH BRACKET)
FOR MIN. SEPARATIONTT ont. 5 —-QSEgFSng%%JLA.‘:;, I\m}zﬁm % 7'0 OR
T0 GLASS z (3) 1,/4% #-20 RIMNUTS W/
z SEPARATION TO GLASS & SECTION A—A #F10x1 1/ (3 1/4" 8-20 x 1 1/2"'5. S
g ) S M S T é}aﬁ@ M/S/@'JDO c. VERgCALLY
2 1/2" EDGE DISTANCE
3 X 3 (WALL MOUNT) 011 12" GD Ry p0x 12
. 3 ) me— SCALE - 1/a" = 17 OR @ L1021 S. .M. S. TOP & BOTTOM
k ‘]@ Cont. 147 = 2X0) OR@ (Typ. AT EACH BRACKET)
7;4" /es—zo RMNUT € 8" 0. C.
W/ 1/4" 8-20 x 2" S. 5. M. 5. —
OR @ FULL LENGTH (LOCATE ALWAYS . SECTION B-B
. Cont. Cont. AT LEAST TWQ BOLTS 1* AT EACH 2° x 4" WOOD STUDS
. 1/4% 8-20 RNUT @ 8" 0. C @_\ — SIDE OF INTERIOR MULLION, SEE FLOURED @ CORNER (5) OR @D (WALL MOUNT)
W/ 1/4" 8-20 % 2" S. S M.'S ELEVATION ON SHEET 5 OF 9 FOR (Tve.) SCALE - 1/a" = 17
— FULL’LENGTH (LOGATE ALWAYS BoLT LAvour) (3) 1/4" 8-20 x 2" C14T =
AT LEAST TWO BOLTS 1° AT EACH | | I M S W/ 7/8" x 3/32"
SIDE OF INTERIOR MULLION. SEE - E F) cont. 2" x 6" WOOD DECK WING NUT 6 3* 0.
ELEVATION ON SHEET 5 OF 9 FOR | RrouReD VERTICALLY W/ 7/2“ EDGE AN
BOLT LAYOUT) N a DISTANCE TOP & BOTTOM \
— 2" x 6" WOOD DECK = (Tyvp. AT EACH BRACKET)
T

REQUIRED

/—- EDGE DISTANCE IF APPLICABLE.

-,»_' \ s ‘j \7/4" ® LAG

1/4“ 8 LAG SCREWS @ 6° 0. C. ()p10 x 1127 8.5,
SCREWS © 6" 0. C. N RADEs, PERTRATION s WGS
W/ 1 1/2" Min. H -

THREADED PENETRATION. " .

ALTERNATIVE 4A ALTERNATIVE 48 el 1 578w

THREADED PFENETRATION.

SECTION G—-G
FLOOR/CEILING MOUNTING INSTALLATION (FLOOR /CEILING MOUNT)

— SECTION A SCALE: 1/4” = 17 SCALE : 1/4” = 17

INSTALLATION DETAILS ON EXISTING WOOD RUILDINGS

F.B.C.(High Weiocity Hurricane Zone)

NOTES 3
S ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRaun By
1. iN“S‘s?Lg;ﬂONS Z‘IRE ONLYSgAL/D FO5R INSTALLATIONS WITH Dfr.sk‘_lgNs ;/IND éOADS

E. EQUAL THAN +62.0, ~75.0 p.a.f. AND Max. SHU AN A . )

PER SCHEDULES ON SHEET 9 OF 8. II L I E c o INC. WEST PALM INSTALLERS, INC. 03/3%06
2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH . o= TLITT TESTING & ENGINEERING COMPANY UssA ¢ 332) DA

19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55. " < 6365 N.W. J6th, St Ste, JO5, VIRGIMA CARDENS, FLORIDA 33766 6819 NW 84TH AVENUE
3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN Phone ; (308)871=1830 . Fox : (305)871~1531 DORAL, FL. 33188 06—'065

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. / ] EB-0006719 PH.(305)405-3575, FAK:(305)406-3575

é /D’QL WA#Z‘E;,& [I’éu ;,J,;; ,’;‘75 HEV. No DESCRIPTION DATE | ALV, N DESCRIPTION DATE DRAWING No
- = 3 - -
© 2004 TLTECO INC. < - —t— - —| SHEET 8 OF 9




SCHEDULE # 1 SCHEDULE # 1A

MAXIMUM SINGLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE MAXIMUM MULTIPLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE
SINGLE _UNIT _ELEVATION CASE / : WALL + WALL MOUNT MULTIPLE UNIT ELEVATION CASE If : TRAPPED TOR/BOTTOM
CASE | : WALL + WALL MOUNT CASE |t : TRAPPED TOR/BOTTOM OR TRAPPED AT SIDES + SIDES (SHEET 6 DF 9)
OR TRAPPED AT SIDES + SIDES (SHEET 6 OF 9) (SHEET 3 OF 9) ‘ .
(SHEET 3 OF 9) . ‘ R @)= @) or (3
g ?‘7/_05 )BRACKE T ?‘{_DE )E?RACKE T |
AHAMA SIDE BRACKET SIDE BRACKET BAHAMA P T T~ | G A
SHUTTER e’ S i f T e’ ‘ T T SHUTTER ALTERNATE SIDE _—cz _‘—I
TYPE ALTERNATE SiDE N N TYPE RACKET i N S
BRACKET > N E | 1 i
I | { e e o] t:w—qﬁ |
— i U 4 IR 1
DESIGN MAXIMUM SPAN “L” (IN) DESIGN MAXIMUM SPAN "L” (IN)
PRESSURE PRESSURE
RATING (p.s.£.) § waxivum uNIT MINIMUM SEPARATION RATING (p.s.f.) | waxmum unit INTERIOR MULLION  |MINIMUM SEPARATION
AND CASE # WIDTH *W” (IN) W/0 SIDE BRACKET | W/ SIDE BRACKET 7O GLASS (IN) AND CASE # WIDTH “W* () | W,/0 SIDE BRACKET | W/ SIDE BRACKET TYPE REQUIRED 70 GLASS (IN)
CASES | & Il CASE | 3
+56.0 , -63.0 42" 52" N/A 3 1/8" +50.0 , -43.3 36 1/2” 72 1/2” N/A Al 2 1/2
CASES | & I CASE | .,
+75.0 , —100.0 42" N/A 96" 2 1/8" +62.0 , ~75.0 36 1/2” N/A 83" A2 2 3/8
CASE i "
+62.0 , —75.0 36 1/2” N/A 84”7 A2 2 3/8
SCHEDULE # 2 SCHEDULE # 3
LIMITATIONS FOR SINGLE AND MULTIPLE UNITS BAHAMA SHUTTER'S UNIT WIDTH (IN), SPAN L (IN) AND MAXIMUM ANCHOR SPACING AT TOP FEMALE HINGES B, ©, OR (D) AS
CORRESPONDING MAXIMUM DESIGN PRESSURE (p.s.f.) FOR THE INSTALLATION OF SIDE & SILL BRACKETS WELL AS SILL ANGLE @ AT BOTTOM (AS APPLICABLE) FOR INSTALLATIONS
INTO CONCRETE & MASONRY BUILDINGS BY MEANS OF (3) 1/4” & x 7/8" CALK—IN ANCHORS * INTO POURED CONCRETE HEADERS AND SILL ***
MAXIMUM NEGATIVE SINGLE UNITS MULTIPLE UNITS DESIGN PRESSURE SINGLE & MULTIPLE UNITS
DESIGN PRESSURE SIDE & SILL BRACKETS ** SIDE & SILL BRACKETS ** RATING (p. s 1) TOP & BOTTOM TO CONCRETE
RATING (p.s.t.) TO CONCRETE TO BLOCK TO CONCRETE TO BLOCK
Max. "w” Max, "L” Max. “W” Max. “L” Max, "W Max. “L” Max. "W" Max. L ‘
- ALL PRESSURES COVERED
‘ 9” 0.C. TOP & 7 0.C. BOTTOM.
~55.7 42" 96" 42" 96" 36 1,2 84” 36 84" IN SCHEDULE # 1 & # 1A
~65.0 42~ 96" 427 g6” 36 1/2" 84" ‘;f ;j, ¥XX SCE SHEETS 7 & 8 OF 9 FOR ANCHOR SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.
N " N " R . 36 1/27 62"
-75.0 42 96 42 96 36 1/2 83 27 53"
-83.0 42" 96" 42" 96” N/A N/A N/A N/A
» N 42" 63
-100.0 42 96 36" 73 | N/A N/A N/A N/A

FOR ELCO PANELMATES ((3) 1/4” 8 W/ 1 7/8" PENETRATION) USED AT SILL & SIDE BRACKETS FOR INSTALLATIONS INTO WOQOD. SEE SCHEDULES # 1 & # 1A FOR SHUTTER SIZE.
XK N ANY CASE, MAXIMUM "W” & *L” VALUES W/ CORRESPONDING DESIGN LOADS SHALL NOT EXCEED MAXIMUM VALUES INDICATED ON SCHEDULES # 1 & 1A

F.B.C.(High Velocity Hurricane Zone)

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER DRag BY
/ NiLTE C O .ine. \ WEST PALM INSTALLERS, INC. 03/30/08
%aag\c:;% TILLIT TESTING & ENGINEERING COMPANY (Assh ¢ 332)
o ) 6355 Mu’r;h.ym. %bs%.h.m’g.:gmpu %s; ,”',"5’1{‘,“ 33188 6819 NW 84TH AVENUE
) . one ; - . Fox : - DORAL, FL. 33188 -—

3 ngf /'9‘6 EB-0006719 n £ PH.:(305)406~3575, FAX:(305)406-3576 Dolafwngsf
/ WA,.L-[gg,D'L L’éug'jz.‘, 167 RV No DESCNFTION AT | v, Ao DESCRIPTION ATE °

1 = - 3 = =

© 2004 TILTECO INC. P - - v - —{ SHEET 9 OF ¢




